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3a’b —ab ©] A7} opd A2

@ 1 @ a ® b @ G)arp

3a?b — ab = ab(3a - 1) °| 22 3ab? — ab 2] 150l a’b+= §lT}.




2. y<x<0¥, /x2-2xy+y2+ /2 + 2xy + y2- 7PAS| SFH?

@ o @ 2x-2y ® 2x

@ 2y @—2})

VE=-9)24+ /E+y)2 =lx-)+Ix+)l
=x-y=(x+y) =2
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F2E W= SHAEY x* - 8x 46 ©1Th

@ (x+1)(x+2)

@ (x+3)(x+5)

@ x+2)(x+3) G)x+2) (x+1)
® (x+2)(x+6)

K —8x+6—>x2+8x+6—>x%+6x+8—> (x+2)(x+4)




4. A +36x+B=(2x+C)? °llA G5 A, B, € o & FobH?

® 4 @ 9 ® 81 @ 90 @94

Ax2+36x+B = 4x2+2x2Cx+C2 0]|B2 A =4, B=81,C=9
Sj=3
Wt A+ B+ C =4+81+9=094 o[t}
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6. (x-2)x>-3(x-2)x-10(x-2) & AFE3N5tH?

@ (-2 (x-5) (x +2) @ (x-2) (x+5)(x+2)
® (x=2)(x-5)(x+3) @ (x-2)(x+5)(x-2)
® (x=2)(x+5)(x-13)

B

A=x-22 X5y
(x=2)x* -3 (x-2)x—10(x—2)
= Ax? - 3Ax - 10A

= A(x? - 3x - 10)
=A(x-5)(x+2)
=(x—-2)(x-5)(x+2)
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o2 3 x%H? - %y - xy? +xy 9 A=Y

@x—l @x+1 Oy+1 @ x+y

x2y? —x%y —xy® + xy = xy(xy —x—y+1)
=xy{x(y-1)-0-1)}
=xy(x-1)(y-1)




8. -3 0] 2x* +ax—15 9] JA+<L W, a 9] & F5tofzh

2x%2 +ax—-15 = (2x - 3) (x + b)

= 2x + (2b—3) x - 3b A
~15=-3b, b=5
a=2-3=10-3=7




9. oA xt-3x2 +10] (& +ax+b)(x* + cx +d) B I3l 2 o,
a+b+c+d° g= FsHA?

D 2 @1 ® 0 @ -1 @—2

B ~
= XE A&t
¥ -3x2+1=X2-3X+1
=X?2-2X+1-X
=(X-12-X
= (2122
=2 -1-x)(x*-1+x)
=2 -x-D(x*+x-1)°|B2
a=-1,b=-1,c=1,d=-1°/A4
a=1,b=-1,c=-1,d=-1
La+b+c+d=-2




10. 2Ho| 7tz Al27F 42 3x - 1, x - 2y ¢ FL&HA o Ful7}

3x3 — 7x? — 6x%y + 2x + 14xy — 4y ©|t}. o|uff, o] Z-&HA| 9] =ol&
“FotH?

@x—2 @ x-1 ® x+1

@ x+2 ® 2x+1

~&B

y ol gt WAtz 2 gejstd
)

=-2y(38x* —7x+2) +3x° - Tx* + 2x
= -2y (322 - Tx+2) + x (32® - 7x + 2)
= (x-2y) (3x* - Tx+2)

= (x=2y) B3x-1) (x=2)

w2t Fole x -2 °Jth.




